Math 346 Quiz 5
March 6, 2018

Name: A N S\/\/é/lzg

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.

¥ = & l | % l \ l?_ | l

.0 1 | -3 | ¥ —
1. Compute[2 1 2|= il -\ 2 = I

-1 2 =2

Write down the first step of your expansion in the first space.

2. Using your answer in problem 1, use Cramer’s rule to solve for z in the following system:

X +z =0
2x+y+2z = 4
—x+2y—2z = 9
' o O D=
Here we have D, = | 7. | & = I =z= D
(Write in the matrix)
Bonus:
1 0 1|3 ' |
1. A system is augmented as ( 2 1 2 ——7). How many solutions are there? ne .
-1 2 -=2121
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-1 2 =2
1 0 1
3. SetA= ( 2 1 2 ) Find det(3434TA™ 1) = - 2-7
-1 2 -2
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